As you may know, Canada's federal budget will be announced on April 19th, 2021. What would you like to see the Federal Government include in the budget?
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Sk/MB | Ont: Quebec | Atlantic | <S40K | S$40K- | $60K- | 100K+ | Kids No Kids The The Bloc | The Green | Other |Wouldnot| Don't
<$60K <$100K Conservati Democrati | Québécois Party Ki
ve Party (BQ)
C D E F G H I J K L

M N o P Q R S T
Base: AllRespondents (unwtd) 1001 120 102 101 358 219 101 291 174 277 188 245 756 202 380 127 37 2 28 50 105
Base: AllRespondents (wtd) 1001 134 13 & 385 239 67 321 183 269 149 22 779 249 329 108 7 37 ) 65 18
100 16 7 6 31 3 6 % 18 23 1 29 7 8 a 23 9 3 2 3 12
b into the workforce
after the pandemic 10% 12% 6% 10% 8% 14% 9% 8% 10% 9% 10% 13% 9% 3% 13% 2% 13% % 8% % 10%
0 0 0 0 0 0 vl D - - - - 0
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0 g 0 0 . . ol N 0 - - - - -
212 2 27 18 7 60 9 76 31 55 38 3 169 o7 a 7 18 2 3 17 2
Reduce the deficit 21% 19% 24% 29% 19% 25% 14% 2% 17% 20% 26% 19% 2% 39% 13% 7% 26% 7% 27% 27% 19%
0 - o 0 - . Nor 0 - - - - o
158 27 29 4 = 16 12 4 2 38 38 2% 133 a 78 13 1 4 6 8 8
pending for ke i the
pandemic, such as tourism, restaurants, arts and
entertainment. 16% 20% 26% % 18% % 18% 14% 15% 14% 26% 1% 17% 16% 2% 12% 2% 10% 24% 1% 7%
& v 0 3 0 B 0 o ot 0 - - - - 0
120 1 15 8 E) 2 8 a7 18 % 21 27 92 1 51 20 1 13 3 4 12
Spending on low carbon industries to help the climate 12% 11% 13% 13% 13% 10% 12% 15% 10% 10% 14% 12% 12% 6% 15% 19% 2% 36% 15% 6% 1%
0 0 0 0 0 0 vl D - - - - 0
234 35 22 10 77 78 13 72 54 a9 23 a3 191 21 95 34 30 2 3 16 33
Increase spending on programs toreduce poverty 23% 26% 20% 15% 20% 32% 20% 2% 29% 18% 16% 19% 25% 9% 29% 32% 2% 5% 14% 2% 28%
0 - 0 0 - 0 m v - - - - o
429 58 0 ) 135 121 37 126 101 124 49 82 336 106 124 4 52 1 1 3 a4
Reduce taxes for middle-to-low income Canadians 43% 3% 35% 5% 38% 51% 5% 39% 5% 6% 33% 37% 44% 3% 38% 0% 73% 30% 59% 52% 38%
0 0 0 0 B0 o T 0 - - - 0 0
138 14 17 10 62 23 13 39 28 38 26 37 101 31 54 13 10 3 1 12 14
Policies to keep interest rates ow 18% 10% 15% 15% 16% 9% 20% 12% 15% 14% 7% 17% 13% 13% 16% 12% 14% 7% 3% 19% 12%
106 15 22 12 30 17 9 38 15 25 13 19 87 a9 25 8 * 10 3 6 5
Policies to help with the recovery of Canada’s oil and natural
gas producers 1% 11% 20% 20% 8% 7% 13% 12% 8% 9% 9% 9% 1% 20% 8% % - 28% 14% 9% %
0 DE* DE 0 0 . Nor 0 - - - - 0
95 13 15 7 38 19 4 2 1 36 15 20 75 36 % 5 1 3 3 9 12
Lower taxesfor businesses 10% 9% 13% 10% 10% 8% % 8% 8% 13% 10% 9% 10% 14% 8% 5% 2% 7% 14% 14% 10%
0 0 0 0 . . ° 0 - - - - -
76 15 12 5 31 7 7 2% 13 17 1 2 51 8 29 13 1 4 1 7 1
A new National child-care system 8% 1% 1% % 8% 3% 10% 8% 7% % 8% 1% 7% 3% 9% 12% 1% 10% 4% 11% 12%
0 0 0 0 - 0 v - - - - "
56 3 4 1 2 18 1 17 7 19 7 1 3 6 29 B - 2 * 4 9
Increase spending on programs
Canadians 6% 2% 4% 2% 7% 8% 2% 5% % 7% 5% 6% 5% 3% 9% 5% - 5% 2% % 8%
0 0 0 0 0 0 v 0 - - - - 0
44 6 8 1 22 6 2 16 7 12 6 12 32 3 23 8 - a 3 1 2
| ding on programs
in Canada 4% % 7% 1% 6% 2% 3% 5% 4% 5% 4% 5% % 1% 7% % - 10% 1% 1% 2%
0 0 . 0 . 0 m W - - - - g
a 2 9 1 1 9 s 1 10 16 3 9 32 12 17 B - 2 - B -
Increase spending on defence and national security rm % r % rm rm ™ Fm o % % rm rm % % % - rm - % -
163 25 17 8 68 36 8 65 13 a8 18 40 123 37 65 14 13 5 3 8 17
16% 19% 15% 12% 18% 15% 12% 20% 7% 18% 12% 18% 16% 15% 20% 13% 18% 14% 15% 13% 14%
0 0 0 0 0 m 0 0 - - - - -
190 2 30 20 56 53 8 55 2% 68 27 30 159 89 35 17 12 7 7 5 18
Reduce overall overnment spending 19% 16% 27% 33% 15% 2% 12% 17% 13% 25% 18% 14% 20% 36% 10% 15% 17% 19% 32% 8% 15%
0 DF ADF 0 0 0 Nor 0 - - - - 0
85 10 12 6 32 19 7 3 10 18 20 2 61 ) 21 4 10 1 3 5 8
Eliminate Canada Recovery Benefit (CRB) 9% 7% 10% 9% 8% 8% 1% 1% 5% % 14% 1% 8% 13% 6% 3% 14% 2% 14% 8% 7%
0 - 0 0 0 . NO 0 - - - - 0
85 18 3 6 a7 4 7 2 18 12 9 13 7 15 20 1 - 2 1 9 2%
Some other priority 9% 14% 3% 10% 12% 2% 10% 13% 10% % % % 9% 6% 6% 10% 1% 6% 3% 13% 22%
BEY . o oE 0 B 1 - 0 - - - - VN
2745 377 327 174 1028 652 188 871 505 742 399 587 2158 690 o11 309 205 ) ) 176 293
sigma 274% | 281% | 289% | 281% | 267% | 272% | 280% | 272% | 276% | 276% | 268% | 264% | 277% | 277% | 277% | 285% | 288% | 251% | 295% | 268% | 249%

Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/1,K/L,M/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/1,K/L,M/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)



To what extent do you agree or disagree with the following statements: - | support running whatever size federal deficit the Prime Minister says is necessary to get Canada through this crisis

REGION HOUSEHOLD INCOME HOUSEHOLD

Total BC AB SK/MB Ontario Quebec Atlantic <$40K $40K - $60K - $100K+ Kids No Kids The The Liberal The Green Other Would not
<$60K <$100K Conservativ Party Party vote/None/| Know/Not
e Party Party (NDP) (BQ) Would
spoil ballot
A B C D E F G H | J K L Q R
Base: All Respondents (unwtd) 1001 120 102 101 358 219 101 291 174 277 188 245 756 242 380 127 37 32 28
Base: All Respondents (wtd) 1001 134 113 62 385 239 67 321 183 269 149 222 779 249 329 108 n 37 23 65 118
661 87 63 31 254 178 48 200 142 190 82 147 514 105 278 82 57 14 10 34 81
Top 2 Box (Net) 66% 65% 55% 50% 66% 74% 71% 62% 78% 71% 55% 66% 66% 42% 84% 75% 81% 39% 45% 52% 69%
* * * c BC* c* * ] MT M* e o e o M*
161 11 24 8 88 17 13 56 31 45 21 47 114 17 83 36 1 3 1 4 17
Strongly agree 16% 8% 21% 13% 23% 7% 20% 18% 17% 17% 14% 21% 15% 7% 25% 33% 2% 7% 4% 6% 14%
* AE* * AE * AE* * M MT* *x wx *x *x *
500 76 39 23 167 162 34 144 111 145 61 100 400 87 195 46 56 12 10 30 64
Somewhat agree 50% 57% 34% 37% 43% 68% 51% 45% 61% 54% 41% 45% 51% 35% 59% 42% 79% 31% 41% 46% 55%
BCD* * * BCD* B* I* ] MO * e e e e M*
340 47 50 31 131 61 19 120 40 79 67 75 265 144 51 27 14 23 13 32 37
Bottom 2 Box (Net) 34% 35% 45% 50% 34% 26% 29% 38% 22% 29% 45% 34% 34% 58% 16% 25% 19% 61% 55% 48% 31%
* E* DEF* * * * HI NOT * *x *x *x *x N*
243 24 38 16 93 56 15 80 30 62 41 58 184 81 43 24 13 18 6 25 32
Somewhat disagree 24% 18% 34% 25% 24% 23% 23% 25% 16% 23% 27% 26% 24% 33% 13% 22% 19% 49% 25% 38% 27%
* A* * * * * N * e o o e N*
97 22 12 15 38 6 4 40 11 17 26 16 80 63 8 2 * 5 7 7 4
Strongly disagree 10% 17% 11% 25% 10% 2% 6% 13% 6% 6% 18% 7% 10% 25% 2% 2% * 12% 30% 11% 4%
E* * BDEF* * * * HI NOT * *x *x *x *x *
1001 134 113 62 385 239 67 321 183 269 149 222 779 249 329 108 71 37 23 65 118
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/,K/LM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)



To what extent do you agree or disagree with the following statements: - In order for me to consider voting for a political party in the next election, they must have a reasonable plan to get back to balanced budgets in a timely manner

HOUSEHOLD INCOME HOUSEHOLD

REGION

Total BC AB SK/MB Ontario Quebec Atlantic <$40K $40K - $60K - $100K+ Kids No Kids The The Liberal The Green Other Would not
<$60K <$100K Conservativ Party Party vote/None/| Know/Not
e Party Party (NDP) (8Q) Would
spoil ballot
A B C D E F G H | J K L Q R
Base: All Respondents (unwtd) 1001 120 102 101 358 219 101 291 174 277 188 245 756 242 380 127 37 32 28
Base: All Respondents (wtd) 1001 134 113 62 385 239 67 321 183 269 149 222 779 249 329 108 n 37 23 65 118
819 111 94 52 286 222 54 257 144 227 120 181 638 224 261 77 71 26 18 49 93
Top 2 Box (Net) 82% 82% 83% 84% 74% 93% 80% 80% 79% 84% 81% 81% 82% 90% 79% 71% 100% 72% 78% 74% 79%
* * * DF* * * NOT * o o o o *
201 32 24 20 81 32 11 76 32 44 43 37 164 76 53 22 14 10 7 5 15
Strongly agree 20% 24% 22% 32% 21% 14% 16% 24% 17% 16% 29% 17% 21% 30% 16% 20% 19% 27% 30% 7% 13%
* * EF* * * * | NT * *x *x *x *x *
618 78 70 32 205 189 43 181 113 184 77 143 474 148 208 55 57 16 11 44 78
Somewhat agree 62% 58% 62% 52% 53% 79% 64% 57% 62% 68% 52% 64% 61% 60% 63% 51% 80% 44% 48% 67% 66%
* * * ACD* * * ] * o o e o *
182 24 19 10 99 18 13 64 38 42 29 42 140 25 68 32 * 11 5 17 25
Bottom 2 Box (Net) 18% 18% 17% 16% 26% 7% 20% 20% 21% 16% 19% 19% 18% 10% 21% 29% * 28% 22% 26% 21%
* * * E * E* * M M* *x *x *x *x M*
142 17 17 7 71 17 12 42 31 37 23 28 114 20 54 27 * 5 4 13 19
Somewhat disagree 14% 13% 15% 12% 18% 7% 18% 13% 17% 14% 15% 13% 15% 8% 16% 25% * 15% 16% 19% 16%
* * * * * * M M* o o o o *
40 6 2 2 28 1 1 22 7 5 6 14 27 5 14 4 - 5 2 4 6
Strongly disagree 4% 5% 2% 4% 7% * 2% 7% 4% 2% 4% 6% 3% 2% 4% 4% - 14% 7% 7% 5%
* * * E * * * * *x *x *x *x *
1001 134 113 62 385 239 67 321 183 269 149 222 779 249 329 108 71 37 23 65 118
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/,K/LM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)




To what extent do you agree or disagree with the following statements: - Canada should create a basic universal income for all Canadians. That means all of us would receive a guaranteed amount of money from the government regardless of whether we work or not

REGION HOUSEHOLD INCOME HOUSEHOLD FED VOTE

Total BC AB SK/MB Ontario Quebec Atlantic <$40K $40K - $60K - $100K+ Kids No Kids The The Liberal [ The New | TheBloc [ The Green Other Would not
<$60K <$100K Conservativ Party Democratic| Québécois Party vote/None/| Know/Not
e Party Party (NDP) (BQ) Would
spoil ballot
A B C D E F G H | J K L

Q R
Base: All Respondents (unwtd) 1001 120 102 101 358 219 101 291 174 277 188 245 756 242 380 127 37 32 28
Base: All Respondents (wtd) 1001 134 113 62 385 239 67 321 183 269 149 222 779 249 329 108 71 37 23 65 118
574 72 63 34 230 132 43 200 98 145 75 143 430 98 212 82 37 29 8 33 75
Top 2 Box (Net) 57% 54% 55% 54% 60% 55% 64% 62% 54% 54% 50% 64% 55% 39% 64% 75% 51% 79% 33% 51% 64%
* * * * * * M M* *x *x wx *x M*
197 35 30 16 67 24 27 96 34 31 24 45 152 22 78 42 10 14 5 7 19
Strongly agree 20% 26% 26% 25% 17% 10% 40% 30% 19% 12% 16% 20% 20% 9% 24% 38% 13% 37% 20% 11% 16%
E* E* £ * DE* M * M MNT* o o o o *
376 37 33 18 163 109 16 104 64 113 51 98 278 75 134 40 27 15 3 26 56
Somewhat agree 38% 28% 29% 29% 42% 45% 24% 33% 35% 42% 34% 44% 36% 30% 41% 37% 38% 42% 13% 39% 48%
* * * ABE F* * * * *x *x wx *x M*
427 62 51 28 156 107 24 121 85 124 74 79 348 151 117 27 35 8 16 32 43
Bottom 2 Box (Net) 43% 46% 45% 46% 40% 45% 36% 38% 46% 46% 50% 36% 45% 61% 36% 25% 49% 21% 67% 49% 36%
* * * * * * NOT * o o o o *
269 41 35 12 105 63 14 84 48 84 39 46 223 83 94 15 9 8 6 23 32
Somewhat disagree 27% 30% 31% 19% 27% 26% 20% 26% 26% 31% 26% 21% 29% 33% 28% 14% 12% 21% 24% 36% 27%
* * * * * * 0 0 * *x wx *x *x *
158 21 15 17 51 44 11 36 36 40 35 33 126 68 24 12 26 - 10 9 11
Strongly disagree 16% 16% 14% 27% 13% 18% 16% 11% 20% 15% 24% 15% 16% 27% 7% 11% 36% - 42% 14% 9%
* * BD* * * * G NOT * e e e o *
1001 134 113 62 385 239 67 321 183 269 149 222 779 249 329 108 71 37 23 65 118
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/,K/LM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)



To what extent do you agree or disagree with the following statements: - Given all that we need to do to get Canada's economy back on track it is acceptable that the government increases the amount | personally pay in taxes

REGION HOUSEHOLD INCOME HOUSEHOLD

Total BC AB SK/MB Ontario Quebec Atlantic <$40K $40K - $60K - $100K+ Kids No Kids The The Liberal The Green Other Would not
<$60K <$100K Conservativ Party Party vote/None/| Know/Not
e Party Would
spoil ballot
A B C D E F G H | J K L

Q R
Base: All Respondents (unwtd) 1001 120 102 101 358 219 101 291 174 277 188 245 756 242 380 127 37 32 28
Base: All Respondents (wtd) 1001 134 113 62 385 239 67 321 183 269 149 222 779 249 329 108 71 37 23 65 118
414 55 54 24 181 83 17 122 76 120 71 98 316 87 171 44 25 18 4 19 46
Top 2 Box (Net) 41% 41% 47% 39% 47% 35% 26% 38% 42% 44% 47% 44% 41% 35% 52% 40% 35% 47% 17% 30% 39%
* B * E * * * M * ** ** ** ** *
57 9 8 3 28 6 2 23 8 17 8 18 39 12 29 8 - 5 1 * 3
Strongly agree 6% 6% 7% 6% 7% 3% 4% 7% 4% 6% 5% 8% 5% 5% 9% 7% - 12% 4% 1% 2%
* * * * * * * ** ** ** ** *
357 46 45 21 153 77 15 99 68 103 63 80 276 76 142 36 25 13 3 19 43
Somewhat agree 36% 34% 40% 33% 40% 32% 22% 31% 37% 38% 42% 36% 35% 30% 43% 33% 35% 35% 14% 29% 37%
* B * E * * * M * ** ** ** ** *
587 79 60 38 204 156 50 198 106 149 78 124 463 162 158 64 46 19 19 46 72
Bottom 2 Box (Net) 59% 59% 53% 61% 53% 65% 74% 62% 58% 56% 53% 56% 59% 65% 48% 60% 65% 53% 83% 70% 61%
* * * * BD* * N * ** ** ** ** *
394 55 37 22 135 116 29 128 75 97 55 77 318 102 109 41 45 4 12 26 55
Somewhat disagree 39% 41% 33% 36% 35% 48% 43% 40% 41% 36% 37% 35% 41% 41% 33% 38% 64% 11% 53% 40% 46%
* * * * * * * ** ** ** ** *
192 24 22 16 70 40 21 70 31 52 23 47 145 60 49 23 1 15 7 20 17
Strongly disagree 19% 18% 20% 25% 18% 17% 31% 22% 17% 19% 16% 21% 19% 24% 15% 22% 1% 41% 30% 30% 15%
* * * * D* * * ** ** ** ** *
1001 134 113 62 385 239 67 321 183 269 149 222 779 249 329 108 71 37 23 65 118
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/1,K/L,M/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/},K/L,M/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)



To what extent do you agree or disagree with the following statements: - Top 2 Box Summary

REGION HOUSEHOLD INCOME HOUSEHOLD

Total BC AB SK/MB Ontario Quebec Atlantic <$40K $40K - S60K - $100K+ Kids No Kids The The Liberal The Green Other Would not Don't
<$60K <$100K Conservativ Party Party vote/None/| Know/Not
e Party Party (NDP) (BQ) Would sure
spoil ballot
A B C D E F G H | J K L

Q R
Base: All Respondents (unwtd) 1001 120 102 101 358 219 101 291 174 277 188 245 756 242 380 127 37 32 28
Base: All Respondents (wtd) 1001 134 113 62 385 239 67 321 183 269 149 222 779 249 329 108 n 37 23 65 118
661 87 63 31 254 178 48 200 142 190 82 147 514 105 278 82 57 14 10 34 81
| support running whatever size federal deficit the Prime
Minister says s necessary to get Canada through this crisis 66% 65% 55% 50% 66% 74% 1% 62% 78% 71% 55% 66% 66% 2% 84% 75% 81% 39% 45% 52% 69%
* * * c BC* c* I* ] MT M* - wx *x *x M*
819 111 94 52 286 222 54 257 144 227 120 181 638 224 261 77 71 26 18 49 93
In order for me to consider voting for a political party in the
next election, they must have a reasonable plan to get back
to bal, d budgets in a timely
© belanced budgets in a timely manner 82% 82% 83% 84% 74% 93% 80% 80% 79% 84% 81% 81% 82% 90% 79% 71% 100% 72% 78% 74% 79%
* * * DF* * * NOT * *x *x wx *x *
574 72 63 34 230 132 43 200 98 145 75 143 430 98 212 82 37 29 8 33 75
Canada should create a basic universal income for all
Canadians. That means all of us would receive a guaranteed
amount of money from the government regardless of
whether we work or not 57% 54% 55% 54% 60% 55% 64% 62% 54% 54% 50% 64% 55% 39% 64% 75% 51% 79% 33% 51% 64%
* * * * * * M M* *x *x wx *x M*
414 55 54 24 181 83 17 122 76 120 71 98 316 87 171 44 25 18 4 19 46
Given all that we need to do to get Canada's economy back
on track it is acceptable that the government increases the
amount | personally pay in taxes 41% 41% 47% 39% 47% 35% 26% 38% 42% 44% 47% 44% 41% 35% 52% 40% 35% 47% 17% 30% 39%
* F* * 3 * * * M * *x *x wx *x *

Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/},K/L,M/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/1,K/L,M/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)



To what extent do you agree or disagree with the following statements: - Bottom 2 Box Summary

HOUSEHOLD INCOME HOUSEHOLD

Total BC AB SK/MB Ontario Quebec Atlantic <$40K $40K - S60K - $100K+ Kids No Kids The The Liberal The Green Other Would not
<$60K <$100K Conservativ Party Party vote/None/| Know/Not
e Party Party (NDP) (BQ) Would
spoil ballot
A B C D E F G H | J K L Q R
Base: All Respondents (unwtd) 1001 120 102 101 358 219 101 291 174 277 188 245 756 242 380 127 37 32 28
Base: All Respondents (wtd) 1001 134 113 62 385 239 67 321 183 269 149 222 779 249 329 108 n 37 23 65 118
340 47 50 31 131 61 19 120 40 79 67 75 265 144 51 27 14 23 13 32 37
| support running whatever size federal deficit the Prime
Minister says s necessary to get Canada through this crisis 34% 35% 45% 50% 34% 26% 29% 38% 2% 29% 45% 34% 34% 58% 16% 25% 19% 61% 55% 48% 31%
* E* DEF* * * * HI NOT * *x *x *x *x N*
182 24 19 10 99 18 13 64 38 42 29 42 140 25 68 32 * 1 5 17 25
In order for me to consider voting for a political party in the
next election, they must have a reasonable plan to get back
to bal, d budgets in a timely
© belanced budgets in a timely manner 18% 18% 17% 16% 26% % 20% 20% 21% 16% 19% 19% 18% 10% 21% 29% * 28% 22% 26% 21%
* * * E * E* * M M* *x *x *x *x M*
427 62 51 28 156 107 24 121 85 124 74 79 348 151 117 27 35 8 16 32 43
Canada should create a basic universal income for all
Canadians. That means all of us would receive a guaranteed
amount of money from the government regardless of
whether we work or not 43% 46% 45% 46% 40% 45% 36% 38% 46% 46% 50% 36% 45% 61% 36% 25% 49% 21% 67% 49% 36%
* * * * * * NOT * *x *x wx *x *
587 79 60 38 204 156 50 198 106 149 78 124 463 162 158 64 46 19 19 46 72
Given all that we need to do to get Canada's economy back
on track it is acceptable that the government increases the
amount | personally pay in taxes 59% 59% 53% 61% 53% 65% 74% 62% 58% 56% 53% 56% 59% 65% 48% 60% 65% 53% 83% 70% 61%
* * * * BD* * N * *x *x wx *x *

Statistics:
Overlap formulae used
- Column Proportions:

Columns Tested (5%): A/B/C/D/E/F,G/H/I/},K/L,M/N/O/P/Q/R/S/T

Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:

Columns Tested (5%): A/B/C/D/E/F,G/H/I/1,K/L,M/N/O/P/Q/R/S/T

Minimum Base: 30 (**), Small Base: 100 (*)



